
loan of $i2»

• A- = 0031896;

>g. r) = 203

> has a tercn

s ; C has a
le reversion

interest of

6rA,« = 9;

V. of per-

'= '4S99002

= 2.88337

= 27493S4

= 2

= 13979400

= 10400998

= 3 21397S2

= -4099002

= 2 7030700

$566,337

= 2500.00

_2299^3o

= $^300. 70

, , USES OF THE TABLKS. . iK

n
.'
'

I?";'"^*''^
annuitiesmay be Considered as being composed of two distinct

parts-the Interest and Sinking Fund. The annuity, in order to pay off the
pr.nc.pal, must e;^peed the interest. The difference between the annuity and

TJTT'^- v""t''''
Sinking Fund. If 5 denote, the yearly sum appropri-

ated to the Smking-Fund. the amount of which will produce the principal, we '

have a=yf + S and from Form 5 we deduce directly a = T/ + 4 so that S=^
But a denotes the annuity and~the present value of the «"'^o'r last annuit*);,'

therefore the Sinkine; Fund is equal to the present value of the jast annuity.

half
^^-^—^ •"ail of $500,000 is contracted by a corporation at <7 nav ible

to h'rn^^'
'° be re.mbuhed by means of 90 halfyearly annuities. VVhat^sum isL to^n?
" ' ^'"'''"' '^""'' '"''^^ '''' '"^^'«^'' for the purp :,se of redeeming

r/ (in":::str=;2'so°oTth^e;
= '''''

' ' = '"''-'" = ^° ' '°^- ^ = ""^^^^

(12) 90 X log. r = 01^01479 log. .-= ^51479 a (annuity) = $14,01904 '

r -922886 log. F/r. 4-0969100 F/ (interest) = 12,50000
r"- I =8.22886 C'log.(/-««- I) = 10846603 S(sinkingfund) = $"77^7^

log. (r*'-l)= 9103397 log. a = 41487183 T o ==
*> «i»»7i8a To prove S=p. v. of
a = $14,019.04 ' last annuity. '

log. a = 4-1467182

log. /*»= -9601479

(By-;
.„ , , ,„ 500,000 \

^^^'^^^'"
1^:666 =$'4,oi8.97J

log. 5=3-1810708

5=$I,519.04
The sinking fund is a little over }4 of 1% per annum, consequently anaddition annual rate of about 6 mills on the $ would extinguish the debt in theperiod ot 45 years..

Ex. 9.—How many yearly annuities would be required to repay a loan of

siSTnind ?

'"'^''^''' ^^^^^'^ ^^"^^' '^ ^^*^'''°°^^ b^'"g added to form a

c- L-^"i7^°°i°/°oi ''"'°S5' '=055; log. '=•02320,24096; interest ( f7)= 1 1,000

•

Sinking Fund (5 ) = 2,000
; a or (K/ + 5) =13,000

'

(14) log. = 41139434

log. 5=8 3010300 ' '

log. (a - 5)=n -8129184 and -J- -02820 (log. r) = 34.96 or 35 annuities (nearly).

(200 000

13,000 = ^5-3846. In Table V, 35 years= 15.3905 and 34 years = 15.2370)

Ex. 10.—A Corporation issues 2,000 Debentures of $500 each, beating nV
interest, and to be liquidated by means of 30 annuities. What sum is to be^id annually, and whafr number of Debentures will be redeemed in^eh of ttiB==
first 3 years, and also the 20th year?

r= 1,000,000
;

/• = 1.05 ; /= .05 ; « = 30 ; log. r= -0311898 : log. /- 3-6989T00 •

*'» = 50,000 ,
'


